ASSEMBLY INSTRUCTIONS
ITEM NO:CD0O38-PC

PARTS LIST PARTS LIST
[tem Description Drawing| Pcs Item Description ‘ Drawing Pcs
A Seat @ 1 1 |Bolt ¢1/4%2"L 8
: " = 2 |Flat Washer ¢1/4 %22mm 8
> 3 | Lock Washer ¢1/4 ” (&) 8
0 F &Back S tch
U ~ 4 Allen Wrench 4mm S 1
D | Left&Right Stretcher > 2 5 Screw 8*1-1/2" — 8
STEP: 1
0
e ® TN
8!
2
COMPLETED

Assembly loosing finger tighten,Do not tighten until

www.bestmasterfurnitures.com



ASSEMBLY INSTRUCTIONS _
@ ITEM NO:CDO38-PT

Best Master Furniture”
The Imported Furniture Specialist
PARTS LIST PARTS LIST
[tem Description Drawing | Pcs Item Description Drawing Pes

I |Bolt ¢5/16%2"L 8

A Table Top _— 1
2 |Flat Washer 05/16%22m| ‘< 8
3 | Lock Washer ¢5/18” 8

B Leg = 4
4 | Allen Wrench Smm S 1

STER 1 =

g

o

o-0-
-9

(<2

@ I}

)
\

?
(3
v

los

y

COMPLETED

N

Assembly loosing finger tighten,Do not tighten until

www.bestmasterfurnitures.com



